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mwuald  u={-1,0,1, 2, 3, 4, 5, 6}
A ={-1,1,35} B ={0,1,2,3} Cef-1.1,2,4]
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3) nvua 1 =10, 1,2, 3, ..., 16}
A ={1,2,4,6,8,10,12}
B ={1,3,57,9,11}
C ={0,1,4,9}

wliwaitmualinaudioiude 6 - 9
WA={x|x€Z,4<x<10astB={x|x€Z,3<x<7}

6. WH1 4B 7. WU 4-B
N. AnB=1{45,6,7.89} N. A-B=1{45,69}
V. An B =1{4,56} U. A-B={789}
A. AnB=1{45,6,7} A. A-B=14,67}
b

3. AnB={5,6} . A—B=1{5,6,789}

8. WH1 AUB 9. W B-4
N. AUB={4,56,789} N. B—A=1{45)
Y. AUB=1{3456789) U. B—A=1{4,6)
A. AUB=1{45,67.89,10) A. B—A={4)
9

N, Au B =14,57.89} . B—A=1{5,6}

10. M (A—B) (B A)
N. (A-B)N(B-A)=¢ U. (A-B)N(B-A)={4}
A. (A-B)N(B-A)=1{34} 1. (4-B)N(B-4)={45)
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